MMGO000, Svar till gamla tentor

MMGL31 (LMA310), 070117.

1) 1/9. 2) zarcsinz + V1 —22+C. 3) sInjz + 2| — flnjz+ 1|+ ¢ In|z — 1| + C. 4)
y = —3we® — 5e® 4 5e**. 5) a) >_,o x? T b) Serien konvergent omm —1 < z < 1 ¢) i.
divergent, ii. 1/6. 6) vy = 50. 7) a) 1, b) —co. 8) 0.

MMGL31 (LMA310), 070323.

1) a) 7/6. 2) %58, 3) a) y = 3e”(1 —cosx). 4) a) y = —z +In|z + 2| — =5 +In(2? +
1) +arctanz + C. 5) a) y = y(t) = 1000e*, y(6) = 1000e*/> ~ 1800, b) 10In2 ~ 6,9. 6)

a)1l,b)1/3.7)a)z€R, b) —e<z <e. 8)In2.

MMGL31 (LMA310), 070824.
1) 2/3.2) 2(1—31).3) y = 3e”(1 — cosz). 4) a) 1, b) —1. 5) i) divergent, ii) 1/240, iii)

2e
€. 6) tIn2l. 7)2— 9z 4 2852 4 O(2?). 8) vy = 50.

MMGL31 (LMA310), 080116.

1) arctan(sinz) + C. 2) y = 1 + 6e **/2. 3) a) 167/15, 87/3. 4) sIn3. 5) 8/81. 6)
Y =Y+ yn = (322 + Bz + C)e*®. 7) a) se boken sid 480, b) i. divergent, ii. 1/240, iii. e.
8) a) se boken sid 411-412, b) In 2.




